MATHS

BOOKS - RD SHARMA MATHS

(ENGLISH)
FRACTIONS
1. Reduce % to its lowest form.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hYGRO4rA9j0o

2. Which is | 5 5‘7
- Which is larger - or -

o Watch Video Solution

3. Arrange the following fractions in ascending

d 5 5 7 3
Orerg,g,z,g

o Watch Video Solution



https://dl.doubtnut.com/l/_hYGRO4rA9j0o
https://dl.doubtnut.com/l/_NQKHSnMCRPOY
https://dl.doubtnut.com/l/_4ogyBlHAqklg

. : 7 5 5
4. Convert the unlike fractions 59 and i)
into like fractions.
o Watch Video Solution
5. Add: (i) ’ + 2 (")22 —|—31
. : i) 2— —
"0 T 15 VT3 T

o Watch Video Solution

... 15 11
6. Simplify: 6 12



https://dl.doubtnut.com/l/_bmOi2cp4wqNW
https://dl.doubtnut.com/l/_zxSQLFlPtTHe
https://dl.doubtnut.com/l/_Gjr05L4ZQBP0

Answer: D

° Watch Video Solution

7. Simpli -45 23—|—37
. Simplify: 6 3 9

° Watch Video Solution



https://dl.doubtnut.com/l/_Gjr05L4ZQBP0
https://dl.doubtnut.com/l/_QGlM7RbAC2Tp

8. Arrange the following in descending order:

(i) l""":i‘\frac{2}{9},\frac{2}{3},\1frac{8}{{21}}°

Watch Video Solution

9. Ramesh solved = part of an exercise while

4
Seema solved — of it. Who solved less?

o Watch Video Solution



https://dl.doubtnut.com/l/_QGlM7RbAC2Tp
https://dl.doubtnut.com/l/_jEBFDT3S78q2
https://dl.doubtnut.com/l/_KithYt9rP3O5

10. Michael finished colouring a picture in 1—72

hour. Vaibhav finished colouring the same

picture in 1 hour. Who worked longer? By what

fraction was it longer?

° Watch Video Solution

0. Simplify: 2 — > (i) 4 +
< OIMDPIITV: — — (1 —_
P 5 g

° Watch Video Solution



https://dl.doubtnut.com/l/_7oPhrENCqPdA
https://dl.doubtnut.com/l/_zSgSj0lm1Pi8

9 4 1 5
12. Simplify: T T (i) 85 — 3§

° Watch Video Solution

13. Simpli '42 31—|—21
. Implfy. § Z E

° Watch Video Solution

3

1
14. Sameera purchased 35 kg apples and 4Z kg

oranges. What is the total weight of fruits

purchased by her?



https://dl.doubtnut.com/l/_o696EPQQe8sv
https://dl.doubtnut.com/l/_2U0soor0Rr8O
https://dl.doubtnut.com/l/_6CLRSMjNQTBo

° Watch Video Solution

3
15. Ritu ate 5 part of an apple and the
remaining apple was eaten by her brother Somu.

How much part of the apple did Somu eat? Who

had the larger share? By how much?

o Watch Video Solution

16. Salil wants to put a picture in a frame. The

picture is 7\frac{3}{5}\ cm\7 5 3 cm wide. To fit in


https://dl.doubtnut.com/l/_6CLRSMjNQTBo
https://dl.doubtnut.com/l/_t7vpIg7iq54A
https://dl.doubtnut.com/l/_WghCNUtsX6jG

the frame the picture cannot be more than
7\frac{3}{10}cm7 10 3 cm wide. How much should

the picture be trimmed?

o Watch Video Solution

17. Compare the following fractions by using the

symbol > or < or=:

(i) Z cmdi (i) E andE

9 13 9 9

o Watch Video Solution



https://dl.doubtnut.com/l/_WghCNUtsX6jG
https://dl.doubtnut.com/l/_Z2hd9zDigg9x

18. Compare the following fractions by using the

symbol > or < or =:

L 37 19 17 119
(I)H and% (i) R andﬁ

° Watch Video Solution

19. Arrange the following fractions in ascending

order:

()35621(,)43 6 b
) —y —) —, —, — ") —, —, —., —
868 43 6’ 8’ 127 16

° Watch Video Solution



https://dl.doubtnut.com/l/_vTeVVPd2S0ms
https://dl.doubtnut.com/l/_6qL5CUOT8bEn
https://dl.doubtnut.com/l/_YnSFPiwMdft9

20. Arrange the following fractions in

4

descending  order: —, ’ : 11, 17 (i)
510" 15" 20

2 11 9 13

7’357 14’ 28

° Watch Video Solution

21. Write five equivalent fractions of 5

° Watch Video Solution

5% 3 3
22.Find th - (1) — — (4— +9—
in e sum: (i) 2 -+ T (i1) 1 +

| & l


https://dl.doubtnut.com/l/_YnSFPiwMdft9
https://dl.doubtnut.com/l/_NNOLjSJx2N9f
https://dl.doubtnut.com/l/_kb2WhPky8qIh

| ¥ Watch Video Solution

23. Find the sum: (i) ——i—3+%

3 7 4
23—#41—04—21—5

° Watch Video Solution

: . 13 7
24. Find the difference of ﬂandl_G
23
d==
6 an 3

(i)

o Watch Video Solution



https://dl.doubtnut.com/l/_kb2WhPky8qIh
https://dl.doubtnut.com/l/_ZrWRDC7bZKxr
https://dl.doubtnut.com/l/_CmDojDLLZqPF
https://dl.doubtnut.com/l/_h71YHQ9yTYyP

25. Find the difference of

3 7

21

— and—

25

18
20

(i)

° Watch Video Solution

26. Find the difference:

69
W% =17
(i) 8 9
1] — 9

A. (i)ﬁ

(ii)%7


https://dl.doubtnut.com/l/_h71YHQ9yTYyP
https://dl.doubtnut.com/l/_CAnW3xjOsW7w

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_CAnW3xjOsW7w

2 3 2
27. Find the diff :9 —5—(i)4— — 1—
7. Find the difference: 9 53 (||)410 1 B

° Watch Video Solution

28. Simplify: 2 L2 (i) 12 31 (iii)
. Simplify: 3+6_9 i —35 (i
75 43—|—27
6 8 12

° Watch Video Solution

3
29. What should be added to 57 to get 127


https://dl.doubtnut.com/l/_DzchZt7hrcFz
https://dl.doubtnut.com/l/_C8fBaSE3Mwot
https://dl.doubtnut.com/l/_IUwFB8dG28Uk

Answer: B

° Watch Video Solution

4 3
30. What should be added to 51—5 to get 123 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_IUwFB8dG28Uk
https://dl.doubtnut.com/l/_X9RfYwJ0fHWh

2
31. Suman studies for 5§ hours daily. She
devotes 2% hours of her time for Science and

Mathematics. How much time does she devote

for other subjects?

° Watch Video Solution

3
32. A piece of wire is of length 12Zm. if it is cut

into two pieces in such a way that the length of

one piece is SZm, what is the length of the

other piece?



https://dl.doubtnut.com/l/_X9RfYwJ0fHWh
https://dl.doubtnut.com/l/_xn5s3nnc4TbW
https://dl.doubtnut.com/l/_VZltCErsLshZ

[ ° Watch Video Solution

33. A rectangular sheet of paper is 125 cm long

2
and 10§ cm wide. Find its perimeter.

° Watch Video Solution

34.In a magic square, the sum of the numbers in
each row, in each column and along the diagonal

is the same. Is this a magic square?

° Watch Video Solution



https://dl.doubtnut.com/l/_VZltCErsLshZ
https://dl.doubtnut.com/l/_NEM8QEhqqj2a
https://dl.doubtnut.com/l/_j0j0BHeweAuh

3
35. The cost of Mathematics book is Rs 25Z and

1
that of Science book is Rs 205- Which costs

more and by how much?

° Watch Video Solution

36. Provide the number in box and also give its

simplest form in each of the following:

24

3
R LU

° Watch Video Solution



https://dl.doubtnut.com/l/_j0j0BHeweAuh
https://dl.doubtnut.com/l/_5SUBUuELMAuo
https://dl.doubtnut.com/l/_iEELDOh2fSIt

. 2 4 3
37. Multiply: 9 byg (ii) 5 by 12

° Watch Video Solution

2 3 3
by— (ii) 5— by 2—

1
38. Multiply: 2—
WHPY A

3

° Watch Video Solution

39. Multiply and reduce to lowest form (if

e 2 Bl 154 12
ossiple): — — (Il) — _
P s 23 g T

o Watch Video Solution



https://dl.doubtnut.com/l/_6SnDBinLfBkL
https://dl.doubtnut.com/l/_dAXNYYaoSIhm
https://dl.doubtnut.com/l/_XmnEBsYd8Qss

40. Simplify: (i) 5 X |

14 35 34
— X — X —
25 51 49

X
20

15

(i)

° Watch Video Solution

2

41. Which is greater? = of% or

3 5
5°73

° Watch Video Solution

42. Find: (i) % of a rupee (ii) 1 of a year



https://dl.doubtnut.com/l/_XmnEBsYd8Qss
https://dl.doubtnut.com/l/_pEQSo1Yz3R8h
https://dl.doubtnut.com/l/_s9ic5Vy7X9ki
https://dl.doubtnut.com/l/_1PkuIYgA34ig

° Watch Video Solution

2
43. Find: (i) 3 of a day (ii) % of a kilogram

° Watch Video Solution

2
44, Find: (i) 3 of an hour (ii) 2—75 of a litre

o Watch Video Solution



https://dl.doubtnut.com/l/_1PkuIYgA34ig
https://dl.doubtnut.com/l/_AnkjUS5JVcFs
https://dl.doubtnut.com/l/_pwLFC0VOi8XP

3
45, Sugar is sold at Rs. 17Z per kg. Find the cost

1
of 85 kg of a sugar.

° Watch Video Solution

46. A car runs 16 km using 1 litre of petrol. How

much distance will it cover using 2Z litres of

petrol?

° Watch Video Solution



https://dl.doubtnut.com/l/_Cr1lityeUrzf
https://dl.doubtnut.com/l/_RMxNcZblhmp1

3
47. Shikha has read 1 of a book consisting of

288 pages. How many pages are still left?

° Watch Video Solution

3 1
48. A rectangular park is 2OZ m long and 155 m

wide. What is the area of the park?

° Watch Video Solution



https://dl.doubtnut.com/l/_K0vEqiyNeMS7
https://dl.doubtnut.com/l/_UCxF4XnK19oT

49, Find the area of a square field if its each side

Is 1OZ m long.

o Watch Video Solution

3
50. Priya spends 5 of her income on house hold

expenses and - of her income on personal

expenses. If her monthly income is Rs 35000, find

her monthly savings.

° Watch Video Solution



https://dl.doubtnut.com/l/_VY8MKPOXM7S8
https://dl.doubtnut.com/l/_ynl1gxdcLErG
https://dl.doubtnut.com/l/_DlU1EngNzUrp

51. A carton contains 40 boxes of nails and each
_ 3
box weight SZkg- How much would a cartoon of

nails weight?

° Watch Video Solution

. 7.3 3
52. Multiply: (i) 11 byg (i) 5 by 25

° Watch Video Solution

53. Multiply: (')34 by 24 (")31 b 410
.U|py.|1—5y ||§yﬁ

| & l


https://dl.doubtnut.com/l/_DlU1EngNzUrp
https://dl.doubtnut.com/l/_mEHnLWWH5hqK
https://dl.doubtnut.com/l/_m9LgnnQPpzIN

| ¥ Watch Video Solution ]

4
54.Find the product: - X ;—;l (i1) 7l X 2i

2 15

° Watch Video Solution

55. Find the product: (i) 3% X 4; (i)

11
6—— 3—
12 "

o Watch Video Solution



https://dl.doubtnut.com/l/_m9LgnnQPpzIN
https://dl.doubtnut.com/l/_6wMtz3LjZmTY
https://dl.doubtnut.com/l/_DPFoP4EZJPRc

o 12 15 35
56. Simplify: (i) —= X —= X —

25 28 ~ 36
10 39 28
o7 56 * 65
ol w72 138
WeTr 2 g X e

(i)

° Watch Video Solution

57.Fi d-1 j”42(")5 92 2 )
-Find: S0 9“8Of330f16

° Watch Video Solution

58. Which i ter? — f6 2 f3
. IC |sgreaer.207 01'307

f


https://dl.doubtnut.com/l/_5PLFAvldY3w0
https://dl.doubtnut.com/l/_b9HrKdpADHKn
https://dl.doubtnut.com/l/_Qto8DPTcn5Zx

° Watch Video Solution

5
59. Find: 1—710f Rs 330 (ii) 9 of 108 metres

° Watch Video Solution

3 1
60. Find: 70]” 42 litres (ii) IT) of an hour

° Watch Video Solution

5 3
61. Find: 8 of an year (ii) 20 of a kg



https://dl.doubtnut.com/l/_Qto8DPTcn5Zx
https://dl.doubtnut.com/l/_IIFYUP7F1Ogk
https://dl.doubtnut.com/l/_4gihr0PIzaPK
https://dl.doubtnut.com/l/_EDXeEpkCGJfl

° Watch Video Solution

5 2
62. Find: (i)2—70 of a litre (ii) 5 of a day (iii)7

of a week

o Watch Video Solution

63. Shikha plants 5 saplings in a row in her

garden. The distance between two adjacent
3

saplings is 7 Find the distance between the

first and the last sapling.

| & l


https://dl.doubtnut.com/l/_EDXeEpkCGJfl
https://dl.doubtnut.com/l/_J0NErxbL9Hwp
https://dl.doubtnut.com/l/_rEB6LM53aNiy

| ¥ Watch Video Solution ]

64. Ravish reads 3 part of a book in 1 hour. How

much part of the book will he read in 23 hours?

° Watch Video Solution

3
65. Lipika reads a book for 1Z hours every day.
She reads the entire book in 6 days. How many

hours in all were required by her to read the

book?

° Watch Video Solution



https://dl.doubtnut.com/l/_rEB6LM53aNiy
https://dl.doubtnut.com/l/_miv5pKKojqyY
https://dl.doubtnut.com/l/_e078Q35RtIou

66. Find the area of a rectangular park which is

2 3
41§m long and 183m broad.

° Watch Video Solution

3
67. If milk is available at Rs. 17Z per litre, find the

cost of 7€ litres of milk.

° Watch Video Solution



https://dl.doubtnut.com/l/_e078Q35RtIou
https://dl.doubtnut.com/l/_SeBQYxtjI7RL
https://dl.doubtnut.com/l/_ESVdX0Tm7WIX

68. Sharda can walk 8§km in one hour. How

much distance will she cover in 23 hours?

° Watch Video Solution

69. A sugar bag contains 30 kg of sugar. After

consuming — of it, how much sugar is left in the

3
bag?

° Watch Video Solution



https://dl.doubtnut.com/l/_s7RIJzJsoofS
https://dl.doubtnut.com/l/_U6Shk46cll7h

70. Each side of a square is 65 m long. Find its

area.

° Watch Video Solution

3
71. There are 45 students in a class and 5 of

them are boys. How many girls are there in the

class?

° Watch Video Solution



https://dl.doubtnut.com/l/_eDHm5gPUkgst
https://dl.doubtnut.com/l/_99BUzCXv4iIS

72. Divide:

2
(ii) 36 by 6

° Watch Video Solution

73. Simplify:

42
03+3

(..)33 .8
1 7 . ﬁ
g D 23
(i)15—= =+~ 1—

7 49

| &


https://dl.doubtnut.com/l/_3Mi9uStUn54S
https://dl.doubtnut.com/l/_y8fzu1cNuuFk

| ¥ Watch Video Solution ]

74. Simplify:
16 8 n 5 3
5 20 5 35

o Watch Video Solution

2 1
75. The cost of 53 kg of sugar is Rs 1011, find

its cost per kg.

o Watch Video Solution



https://dl.doubtnut.com/l/_y8fzu1cNuuFk
https://dl.doubtnut.com/l/_o3WNdInyUbpm
https://dl.doubtnut.com/l/_mkmCud9BrKw6
https://dl.doubtnut.com/l/_sX4R8qaVj1Hp

76. The product of two numbers is 207. If one of

the numbers is 6§ , find the other.

o Watch Video Solution

5
77. By what number should 56 be multiplied to

1
et 3—7
8€t o3

o Watch Video Solution

78. If the cost of a notebook is Rs 82, how many

notebooks can be purchased for Rs 1312 ?


https://dl.doubtnut.com/l/_sX4R8qaVj1Hp
https://dl.doubtnut.com/l/_3XZccAqqPXoZ
https://dl.doubtnut.com/l/_3cOXXJ1O7NtB

° Watch Video Solution

79. A bucket contains 24Z litres of water. How
3
many — litre jugs can be filled from the bucket

to get it emptied?

° Watch Video Solution

80. Find the reciprocal of each of the following
fractions and classify them as proper, improper

and whole numbers:


https://dl.doubtnut.com/l/_3cOXXJ1O7NtB
https://dl.doubtnut.com/l/_WJ4fDu945ZWT
https://dl.doubtnut.com/l/_fchY3MBmU6ma

(i)

3
7
(i) 9
i) 3

o Watch Video Solution

81. Find the reciprocal of each of the following
fractions and classify them as proper, improper

and whole numbers:

(i)

(ii)

o Watch Video Solution



https://dl.doubtnut.com/l/_fchY3MBmU6ma
https://dl.doubtnut.com/l/_Uimrrg9Xk0cW
https://dl.doubtnut.com/l/_zy8bEtQGHPFy

82. Find the reciprocal of each of the following
fractions and classify them as proper, improper

and whole numbers:
12
7

1
(ii) 3

(i)

° Watch Video Solution

83. Divide:

l ° Watch Video Solution


https://dl.doubtnut.com/l/_zy8bEtQGHPFy
https://dl.doubtnut.com/l/_kIVsPUO12IgF

84. Divide:

A7 1
(i) 3 by 45
3

1
(ii) 6 by 2=

° Watch Video Solution

85. Divide:
3

(i) < by4

(")9b6
“]__6y

° Watch Video Solution



https://dl.doubtnut.com/l/_kIVsPUO12IgF
https://dl.doubtnut.com/l/_ELfggxnSuSfD
https://dl.doubtnut.com/l/_phezGhC97VPB

86. Divide:

° Watch Video Solution

87. Simplify:
310
T

3 4
i4- = =
(de =+ <

° Watch Video Solution



https://dl.doubtnut.com/l/_phezGhC97VPB
https://dl.doubtnut.com/l/_YBuEainK0yPt
https://dl.doubtnut.com/l/_8ADRGL55xKg1

88. Simplify:

.4 3
(i) 57 = 11—0
L a2
(ii) 4 = 23

o Watch Video Solution

1
89. A wire of length 12§m is cut into 10 pieces

of equal length. Find the length of each piece.

o Watch Video Solution



https://dl.doubtnut.com/l/_8ADRGL55xKg1
https://dl.doubtnut.com/l/_5UMwwPgER6B6
https://dl.doubtnut.com/l/_eNgUM1lGX5DJ
https://dl.doubtnut.com/l/_qoa5vdEyKvLk

90. The length of a rectangular plot of area

1 1
65§ m? is 1ZZ m. What is the width of the

plot?

o Watch Video Solution

2
91. By what number should 65 be multiplied to

4
t4—7
g€ 9

° Watch Video Solution



https://dl.doubtnut.com/l/_qoa5vdEyKvLk
https://dl.doubtnut.com/l/_veCzs3MbWuey

92. The product of two numbers is 256. If one of

the numbers is 65, find the other.

° Watch Video Solution

1
93. The cost of 6Z kg of apples is Rs 400. At

what rate per kg are the apples being sold?

° Watch Video Solution



https://dl.doubtnut.com/l/_T3q8dMpUbgVg
https://dl.doubtnut.com/l/_xqK8II8WVbwL

1
94. By selling oranges at the rate of Rs 5Z per

orange, a fruit-seller gets Rs 630. How many

dozens of oranges does he sell?

° Watch Video Solution

95. In mid-day meal scheme 0 litre of milk is
given to each student of a primary school. If 30

litre of milk is distributed every day in the school,

how many students are there in the school?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZICVMObDPv9L
https://dl.doubtnut.com/l/_Bj5NHvnHRl06

96. In a charity show Rs 6496 were collected by
selling some tickets. If the price of each ticket

was Rs SOZ, how many tickets were sold?

o Watch Video Solution

a
97.If a fraction 3 is a lowest terms. Then HCF of

aandbis a(b)b (c)1(d) ab

° Watch Video Solution



https://dl.doubtnut.com/l/_Bj5NHvnHRl06
https://dl.doubtnut.com/l/_IPHgmNaMdgzV
https://dl.doubtnut.com/l/_N7mO5B8m7IFB
https://dl.doubtnut.com/l/_zI1kQbXekRqS

42
98. The fraction S—;l in its lowest terms is — (b)

12 6d 3

o Watch Video Solution

99. Which of the following is a vulgar fraction?

13 9 7

_( ) To0o 1000 (c )21_0 (d)§

° Watch Video Solution

100. Which of the following fraction is an

irreducible (or in its lowest terms)?


https://dl.doubtnut.com/l/_zI1kQbXekRqS
https://dl.doubtnut.com/l/_TG3GtnZ211MN
https://dl.doubtnut.com/l/_N5k8Ly2Pyc47

(a) 2
TV

(b) 105
112

51
85
43
d) —
(d) 23

(c)

° Watch Video Solution

101. Which of the following is a proper fraction?

13
(a)

a_
17

17
(b) 3

12



https://dl.doubtnut.com/l/_N5k8Ly2Pyc47
https://dl.doubtnut.com/l/_HfWoJFN2auJP

& Watch Video Solution

3
102. The reciprocal of the fraction 23 Is
5 13 5 2
2— (b) — (c)— (d) 2

° Watch Video Solution

1 1
103.4— — 2— =
3 3

1
(a)2 (b) 2 (C)3 (d)

° Watch Video Solution



https://dl.doubtnut.com/l/_HfWoJFN2auJP
https://dl.doubtnut.com/l/_zIJNwrZYlh90
https://dl.doubtnut.com/l/_sAMtpIBpqip2
https://dl.doubtnut.com/l/_pKLkQUfmERdC

3 5

10402_+_:

5 7
( )13 (b) 13 ( )91 (d) 25
P s s Y or

o Watch Video Solution

3
105. By what number should 1Z be divided to

get 25?
3 2 7 3
(3)7 (b) 1g (C)E (d) 17

o Watch Video Solution



https://dl.doubtnut.com/l/_pKLkQUfmERdC
https://dl.doubtnut.com/l/_Xxvyey7xTALO

3
106. By what number 43 be multiplied to get
3
2=7
7
391 8 91

(a)g (b) o1 (c) 3t (d) None of these

° Watch Video Solution

107. (55 — 32 )-
‘\"4 "3/

(a)(12/23)

(b) 2

1 11
©(15)

(d) (11/12)

| = |


https://dl.doubtnut.com/l/_cnYeQbQl6Mpt
https://dl.doubtnut.com/l/_Wy4YExnETOrz

I &9 Watch Video Solution ]

2
108. The fraction equivalent to 1§ Is

10 3 10 6

(a)? (b) g (C)F (d) 1—0

° Watch Video Solution

4
109. By what number 93 be multiplied to get

427

30 7 1 3
(8)7 (b) 30 (C)47 (d) 47

° Watch Video Solution



https://dl.doubtnut.com/l/_Wy4YExnETOrz
https://dl.doubtnut.com/l/_hmr6f0Yw9gAQ
https://dl.doubtnut.com/l/_9kcvjYc4HtVt

110. Which of the following statements is true?

7 4 7 4
@1 <31 P13 =5
(c) ’ > 4 (d) None of these
“T9 7 21

° Watch Video Solution

111. Which of the following statements is true?

@3 o212
Y4351
o 2.3 12 2 12 3
—_— J— —_— C_ —_— J—
3 4 1 3 15 4
12 _2 _3
15 3 4

o Watch Video Solution



https://dl.doubtnut.com/l/_oIZiTzlTkk6p
https://dl.doubtnut.com/l/_dZ100uhLZOb5

112. Which of the following fractions lies between

2 H
—and—"
3 7

4 5
(a)Z (b)g (C)E (d) None of these

° Watch Video Solution

113. Which one of the following is true?

(b) Z<1—3<§<ﬁ

1 3 9 12

7 113 717

@l_9 _12_3
5 <13 S17 1

(a)



https://dl.doubtnut.com/l/_dZ100uhLZOb5
https://dl.doubtnut.com/l/_XkuepKOP6EpL
https://dl.doubtnut.com/l/_37f1UBkHYiki

° Watch Video Solution

2 8

114. The smallest of the fractions —, é, — and
37 11

5 .

— is

9
2
(a) =

(b)

(C)l_

3
4
7
8
1
(d) >
9

° Watch Video Solution



https://dl.doubtnut.com/l/_37f1UBkHYiki
https://dl.doubtnut.com/l/_sjalmzf3xfcV

(d) 3

o Watch Video Solution

116. Which of the following is correct? (a)


https://dl.doubtnut.com/l/_s0n580QA3C1x
https://dl.doubtnut.com/l/_nmf4b3JgLkvP

o Watch Video Solution

17. Which is the smallest of the following

fractions?
4
(a) 5
2
(b) —
1

5
02
77
(d) ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_nmf4b3JgLkvP
https://dl.doubtnut.com/l/_vO47yZUvxvQ4

118. The difference between the greatest and the

6 8 9
least fractions out of — Z — and — is? (a)
78’9 10

3L ol 1
70 6 a0 T

o Watch Video Solution

119. Which of the following fractions is greater

than — and less than — 7
4 6

2 1 4 9
(a)g (b) 5 (C)g (d) 1—0

o Watch Video Solution



https://dl.doubtnut.com/l/_vO47yZUvxvQ4
https://dl.doubtnut.com/l/_T2CCQbyl3g0L
https://dl.doubtnut.com/l/_ZSfnCHPV5EQ2

120. Which of the following fractions is more

than one-third?

By 25 2 18
Y7o Y819 Y5 'Y 335

° Watch Video Solution



https://dl.doubtnut.com/l/_qQjhCbccDgUt

